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TEST - 01 [GEOGRAPHY]

Time Allowed : Two hours Maximum Marks : 200

INSTUCTIONS

1. IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD CHECK THAT
THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN OR MISSING PAGES OR ITEMS,
ETC. IF SO, GET IT REPLACED BY A COMPLETE TEST BOOKLET.

2. You have to enter your Roll Number on the Test Booklet in the Box provided alongside. DO NOT write anything else
on the Test Booklet.

3. This Test Booklet contains 100 items (questions). Each item is printed in English and Kannada. Each item comprises
four responses (answers). You will select the response which you want to mark on the Answer Sheet. In case you feel
that there is more than one correct response, mark the response which you consider the best. In any case, choose
ONLY ONE response for each item.

4. Questions are printed both in Kannada and English. If any confusion arises in the Kannada Version, please
refer to the English Version of the questions. Please note that in case of any confusion the English Version of
the Question Booklet is final.

5. Question paper comprises of TWO PARTS i.e, PART-A comprises of Geography questions and PART-B comprises
of Current Affairs questions (January-2023).

6. You have to mark all your responses ONLY on the separate Answer Sheet provided. See directions in the Answer
Sheet.

7. All questions carry equal marks.

8. After you have completed filling in all your responses on the Answer Sheet and the examination has concluded, you
should hand over to the Invigilator only the Answer Sheet. You are permitted to take away with you the Test Booklet.

9. Penalty for Wrong answers :

THERE WILL BE A PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE IN THE OBJECTIVE
TYPE QUESTION PAPERS.

i.  There are four alternatives for the answer to every question. For each question for which a wrong answer has
been given by the candidate, one-third (0.66) of the marks assigned to that question will be deducted as a
penalty.

ii. If a candidate gives more than one answer, it will be treated as a wrong answer even if one of the given
answers happens to be correct and there will be the same penalty as above to that question.

iii.  Ifaquestion is left blank, i.e., no answer is given by the candidate, there will be no penalty for that question.
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PART-A

1) With reference to Western Ghats, consider the following
statements:
1. Western scarp of Sahyadri has sustained headward
erosion due to west flowing streams.
2. Eastern slopes of the mountain region have dry as
well as moist deciduous forests.
Which of the statements given above is/are correct?
a) lonly
b) 2only
c) Bothland2
d) Neither 1 nor 2

B, e RPELNPR ZOWORDATWO3I, B FYNS BELTNF,
TWONERA:

1. 33,53502)e300000N BOOE 3RTNLOTTN
0,00 B, 2IoMed) ISBYMON K338,
2FMNG.

2. RIe3 FTHIT TP 9T s, 3303,
30003303 e30300T0BIES FoBINP ), VRO,

20¢e3 TRE3,Bres BELTINT). 03503730 FDOONGI?

a) 1393

b) 23503

C) 1a03) 2 ATBR

d) 1eo8e02ee),

2) With reference to mountain passes of India, consider the
following statements:
1. Saser la Pass of the Western Himalayas passes
between Nubra and Siachen Glacier.
2. Dipher pass is an important land trade route
between India and Myanmar.
3. Asirgarh Pass connects Mewar and Marwar in
Rajasthan through the Aravali Hills.
Which of the statements given above are correct?
a) land2only
b) 2and 3 only
c) land3only
d) 1,2and3

29030 B33 Ne NP ROWORATO3, & ITPNI
BELBRFS, TONEIR:
1. @35 2350000 AORTE €30 WOA® I3 303,
2033028 ° DI SIS TOBIBRCTNII.
2. DFPO° DA P33T NI, 3300509,0° BTN T3jas00)
2340 39958000 &30 E NG,
3. ATETE TR 00RP 3ELNF eDROT Tozme, ST
30¢eI00° DI, 230039 T° €9, AOBVIEAIT.
30ee3 T063,0053 BeLINFE). 0330333 ROCIIONTI?
a) 13H3), 23303
b) 2a03) 3503,

C) 1303y, 303
d) 1,2203)3

3) Which of the following pair(s) is/are correctly matched?
1. Melanesia: North Pacific Ocean
2. Micronesia: South Pacific Ocean
3. Macaronesia: North Atlantic Ocean
Select the correct option using the codes given below:
a) 1only
b) 2only
c) 3only
d 1,2and3

B IFNSYNP), 00es Bt (reh) FDOIPN
BRODFTOIMI 3?

1. RDDOIRACI0: Q03T BADT® eNTVoAINT

2. ByTRRLACT: B389 BADT® e ANT

3. TR RA0II0: 3T €9€39 03T eNTORONT
FIR QBT BRLTE NP, WFATROTWI FDOITS
303,003y, e3DA:

a) 13

b) 2xw3

C) 333

d) 1,2203)3

4) Which of the following statements regarding the “Great
Red Spot” is correct?
a) Itis a persistent anticyclonic storm on Jupiter.
b) Itis the largest volcano on Mars.
c) Itis the most powerful hurricanes ever recorded on
Earth
d) It is the largest sunspot.

"eE3* Bee® A0, €3 T R0WORATOI3 T3 FFNIYNPS).
03503 BELTOY ADOITDNTI?
a) VR MBIV 3303 ADTOIT 30837,BRLDT
WOBNT300N.
b) ¥ ONY RB/E 93BRT,, 230,703 0N,
C) AW BN &NCE3 TONEIT 93503 T
FOB0TI3e30NES
d) 9 93503 BT, FROHES LOTIINS.

5) Consider the following statements regarding Earth:

1. Earth is the largest of the terrestrial planets.

2. Earth is exactly one astronomical unit away from
the Sun.

3. Earth’s axis of rotation is tilted exactly 23 degrees.
How many of the above statements is/are correct?

a) Only One

b) Only Two

c) Only Three
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d) None of the above

230203 T, T3 TN BELTNFT), SONEBA:
1. 2300030 30 3, 3 BRODE NBNYE), 93,03

BRTB TN,

2. B8RO FRONEDOT DTN 2,053
DRPELEOD FETE BRITBAR.

3. BRAOD TDLFE0ED e9Fag) DTN 23 BANYRY,,
O3 .

RO BELTINF D), D), FOATONEI/3?
a) TCBD® 2,00

b) FtEO DT

C) T DRI

d) SeDTYNP), o) Te €9,

6) Consider the following discontinuities:
1. Repetti discontinuity
2. Conrad discontinuity
3. Lehmann discontinuity
4. Gutenberg discontinuity
What is the correct order from top to bottom?

a) 1-2-3-4
b) 2-1-3-4
) 1-4-2-3
d) 2-1-4-3

B FPNS 092, 03NP, TONEBR:
1. ORE3, 92,33
2. T ©A 33
3. Sz 93,33
4. M&I], e 92,33
BHDAOT FXF, ROOSVE Tjadd O3I0eYTI?
a 1-2-3-4
by 2-1-3-4
c) 1-4-2-3
d 2-1-4-3
7) With reference to Coal reserves in India, which among
the following statements is/are correct?
1. Being one of the largest producers of coal in the
world, India is a net exporter of coal.
2. Coal sector is one of the major sectors of eight core
industry classification in India.
Which of the statements given above is/are correct?
a) lonly
b) 2only
c) Bothland?2
d) Neither 1 nor 2

TITAS TR0 QFLRINLR BOWORAT0I, &8
FINIYNPS). O30es BELFTO) DO NCI/e3?
1. 3.3 03BRB, TOTLN N TITE). 2,005
23903853 BOB.ON a3,% Gad) 0300 O, s00N 3.
2. TN BOON) LTI 203 53z VT35
FNCETTEOTT W30 B LZNP ), 2,00NT.
TS B0b3,00e3 BELBNFE), Ao FOSIRNTI/33?
a) 13393
b) 2393
C) 1303, 2 XTBR
d) 1eoxe2e9e),

8) Which of the following factors is/are responsible for
weakening of tropical cyclones?
1. Warm Sea surface temperatures.
2. Dryair
3. Low vertical wind shear
4. Ocean area along the projected storm track
Which of the statements given above is/are correct?
a) 1,3and4only
b) 1and 4 only
c) 2only
d) 2and 3 only

NR_OONT WOTWSIVTIINE) TWEDNRP,D) B3
FENISYNPS). 00a3 90Teg) TOTEIWINTI?

1. B@NS INTT a3, 3 FoTWadvo.

2. DR, MNP

3. TR ©0W MYoD dCoHT

4. B3 FORRITIZE TODONT B, AONT &3¢S
20ee3 Feé3,0red BPLINFD), O30T ADOIONC/3?

a) 1,333, 4 w3

b) 1203, 43

C) 233

d) 2aH3), 33903

9) With reference to the Indian Ocean, consider the
following pairs:

Location Important features

1. Palk strait Connects Bay of Bengal and
Gulf of Mannar
2. 10 degree Separates Lakshadweep
channel islands and Minicoy islands
3. Sunda Strait Connects Indian Ocean and
Java Sea

4. Carlsberg Ridge | Bay of Bengal

How many pairs given above is/are correctly matched?
a) Only one pair

b) Only two pairs

¢) Only three pairs

d) All four pairs
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00TR TNTRAINTT, FOWOPATOI, T3 TN
BRBNTS), TORB:

TS I ©FINRP
1. $oT° HOROY OMOPER), 303, e,
FRO 0N, BOBIEAIZT
2. 10 &7 T3> OFDLT OLBNE 23,
eNATRLOI® B LBNFS,
B3sL3R3

3. R0 BOROD | 0B NTORNT DI,
23020 AVITI)2I3),
ROBIERZT

4, oo, €T O | WOMY TR,

NCE3 ANTBEIDT AR, BN FDOITDN
BRODFTOIMNIZTI/3?

a) TCB® 2,07 B

b) FEO DTWY Betdneh

C) B DR Betreh

d) ey, Soen, BetRdneh

10) Which of the following statements regarding the
abyssal plain is/are correct?
1. These are underwater plains on the deep ocean floor
with rich biodiversity.
2. These are the result of seafloor spreading.
3. These are featureless and flat region of the Ocean.
Which of the above statements is/are incorrect?
a) 3only
b) 2only
c) lonly
d) None of the above

Ty@3 WORDN FOWORATOI & TYNIPINF). 0303
BEPLTOAN) FOOINT/e3?
1. 953 903 2a3e3,eI 330N, BRODTIS
39500 FONT 3FTA), ALDOIRFNS eyt NFDNES.
2. 95 RIEE 39T BOEIIBODH OH0ehaTNGS.
3. 95 RONOR OFETHS 3, ReD 330,53

BB reonss.

DO BEPTRPS). O30eY ) 3500,N3/a3?
a) 393
b) 2503
C) 103

d) SeO[IHRTS), o0eIER 96),

11) Consider the following statements about desertification
in India

1. Almost a quarter of country’s total area is
undergoing land degradation.

2. The biggest reason for desertification in India is
wind erosion.

Which of the statements given above is/are correct?

a) lonly

b) 2only

¢) Bothland2
d) Neither 1 nor 2

239033, eNTILERIETTLIT 7, T3 FFNS
BeLIRP, TONEB
1. 3BT 2,83, ST Toe) LINTRY, PWe 93331
WM.
2. 03T, eHTILPRANFTTET, BRTW, TOTLII0T
MO Ne33.
2ee3 Bpéd,Bre8 BLLTINFD), C30e3)T3) ADOIONT/3?
a) 13393
b) 2xw3
C) 1303, 2 XTBR
d) l1eogze2e9e),

12) Match the following:
List-1 List-11
A. Clouds having a feathery appea-
rance, formed at high altitudes 1. Cumulus Cloud
B. Clouds look like cotton wool,
formed at mid altitudes
C. Black or dark gray clouds,
formed very near to the surface 3. Nimbus Cloud
D. Layered clouds covering
large portions of the sky 4. Stratus Cloud
Select the correct answer using the code given below:
A B C D
a) 1 2
b) 2 3
1
1

2. Cirrus Cloud

B S

c) 2
d) 4

W wkFk w
N A

T FTFNTINF ), BRODA:
BE,-1 BE,-1I
A NONY SeC&3e33, 1. TRV RBRCTHB
BRODTIT
RRCBNYY, 3T
RIBNSS,
BRPR)NRPF,IIS
B. SSuetm3ne) 3.3, 2. ATA* BB
T, 003 T3 33,
DG D3 TTE).
CRIYNRPOLT
C. TR, 9ITw0 NG 3. QOWE* VRCTB
2R VBN,
B3, 47t 2B
3333,
CRJYPROTT
D. eRODTFE B38BNRYH 4, =87 T
3T BRI,
IRNNT ),
€3z30R03 33
FONR QBT FTRLT WP IO I T3, €303,
ek:

SUBSCRIBE - youtube @navodayafoundation. Telegram Channel@X NAVO. -PRAMATI



NAVODAYA FOUNDATION — Contact @ +91 8105049244/ + 91 6364381776

B C D
a) 1 2 3 4
b) 2 3 1 4
c) 2 1 3 4
d) 4 1 3 2

13) Which of the following factor(s) lead to heat waves in
India?
1. The northward movement of the Sun in summers.
2. Anti-cyclonic conditions in the Bay of Bengal.
3. Asudden increase in atmospheric pressure in the
interiors of the country.
4. Frequent EI-Nino.
Select the correct answer using the code given below:
a) lonly
b) 2and 4 only
c) 1,2and3only
d 1,2,3and4

T FPNIYNY D), Ooes 90T(MYhH) 3003TE), ToDTI
SNPLR FoTRTN353?

1. 23AR0NA), RPCHES 3T DY, 3O,

2. WOMIPTRD) 0N, L30TV dTRLD TJOA,BTS.

3. BIT wPTRID), 250303 0T WwI3BH), BTOT®

B3

4. esmen, eer-A3.eE.
FPR AN TRE WFA AV 03 T3y, &30,
0od:

a) 1593

b) 2303y, 4503,

C) 1,233, 33393

d) 1,2,3303) 4

14) Consider the following statements:
1. Sunflower is more water efficient than Chick-pea.
2. Most of the demand for sunflower oil in India is
met through imports from East Asia.
Which of the statements given above is/are incorrect?
a) 1lonly
b) 2only
c) Bothland2
d) Neither 1 nor 2

S BPNS BCPINT), WONRIR:
1. 233 2E3088N03 BAONETI0S BeD), DO
BZ30DHI, BRODT.
2. 03T, FPODETI0S DB, 0D B3,
RETODN, TR DWI;RDOTI e350DT
TR TRP) S TNRDT BPTATMI .
20ee3 Fé3,Bred BXPTINY ), O30T 39, NT3/a3?
a) 133593

b) 2393
C) 1303, 2 XTBR
d) 1e9xe02e9e)

15) Which among the following is the more accurate
reason for the absence of three distinct crop seasons
viz. Kharif, Rabi and Zaid in the Southern states?

a) High temperature

b) Uniform rainfall

¢) Availability of fertile soil

d) Affirmative action by states in the form of subsidies

338 £0T3 DozsgNP ), 00T, T2 a3, 234570 2202 a0RT)
DD, WY TBNY ODTL,ER S BENTIINLE).
0300YT3) TR, INTeIATS FTOTEDINCI?

Q) TS TS

b) HBCERE DY

C) BOBTVE DB, 02353

d) )Ny CHRES), TossNe 3,300 Bt

16) Which one of the following statements regarding the
Food and Agriculture Organization (FAQ) is
incorrect?

a) Itis aspecialized agency of United Nations.

b) It publishes the Nature risk rising report.

¢) It leads the program called Globally Important
Agricultural Heritage Systems (GIAHS).

d) Itis the depositary of the International Treaty on
Plant Genetic Resources for Food and Agriculture

€3200 aNIY, Ty AOATT (FAO) ROWORDATOS S8
FYNIYNPS), 0303 BELTO Ja09, NeT?
a) 9D AF,F0R 0D TR FOA 03NS,
b) ¥ Ieezo® DAY GyROTT B[RO, TTEIRI 3.
C) I TaN3TeooN e300 Ty BTOBT &353R, NED
(VBRI DR®) 202 TOODE TS0,
T, BRI T,
d) 9 3T eTDIY, FyAMN FA; 3:30:309T
ROBIRONY L90IZTTIR,, O 2,a3,083T
Bee3e3035N S

17) Consider the following pairs:

Riverine Island State

1. Bhavani Island Andhra Pradesh

2. Nongkhnum Island Tripura

3. Munroe Island Kerala

4. Umananda Island West Bengal

How many of the pairs given above is/are correctly
matched?

a) Only one pair

b) Only two pairs

¢) Only three pairs
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d) All the pairs

B BENS BCRNP), TONBA:
DI DL OO
1. 235000 LR Sleinibimie:)]
2. Seon), =35 DLR, 3500
3. &IJeL BLRE, FOP
4. ea3e=80me DL, B3,z Wwoney

03 ABSRT DR, eCENE) DN
BRODTOIITI T3/e3?

a) T 20T BB

b) FEO DTTY Betneh

C) FTB® DR Bt

d) ey, Seen, Betneh

18) Arrange the following hills from North to South:
1. Nayagarh hills
2. Nagari Hills
3. Garhjat hills
4. Varushnad Hills
5. Sirumalai Hills
Select the correct answer using the code below:

b) 1-2-5-3-4

c) 4-1-3-2-5

d 3-1-2-5-14
B3 VDOT B 0T, T3 TENS L3E3, T, B2
1. Sodenos 3 e

2. IND BE,NeD

3. Nxes® IR

4. T[OIR T 363,71

5. 20ehed, 8363,1eh

TN TRCTE WFA FDOIE 03,Te3:3), &30, e3v0ds:
a) 3-1-2-4-5

b) 1-2-5-3-4
c) 4-1-3-2-5
d) 3-1-2-5-4

19) With reference to Himalayas, consider the following

statements:

1. Shiwalik are characterized by deep, seasonal water
channels known as "Chos."

2. The Shiwalik receives less rainfall as compared to
Greater Himalayas.

3. Moving from west to East, the width of Himalaya
decreases.

Which of the statements given above are correct?

a) land2only

b) 2and 3only

c) land3only

d) 1,2and3

0350 CDNF, FOWORATO3I, &8 FPNS BLLINS),
TONEBA:

1. 307 9D, "BRCAT 0T FTODEVTES
e3%20003, TS3Ua23 3 ALOR TOIWNY TIEIOTED
QCRDRSINT.

2. 1e&0° B30T, BRCDATT 3z30)TE FLT
DFODT, BBOINI .

3. B30T TPRREF, BDRIION 20a350O0NT N
BeH ORI

20ee3 Beé3, 08 BLINFD), 0309730 FDOIONTI?

a) 13D3I, 23503

b) 203, 33

0) 15H3) 35393

d) 1,2203)3

20) With reference to Indian geography, consider the

following statements:

1. Mahi River is the only river in India that cuts the
Tropic of Cancer twice.

2. The Krishna River flows through the states of
Karnataka, Andhra Pradesh and Telangana only.

3. Rudraprayag is the location where Alaknanda and
Mandakini rivers converge.

Which of the statements given above is/are correct?

a) land2only

b) 2and 3only

¢) land3only

d) 1,2and3

239030 PRNRRIFITR T, ROWORNATO3, B FFNI
BXLINF, BORBA:
1. TTEET 23,3330, DT 2300 I3V RIS 290333
YT D hodo ID.
2. FHW, SO ToeET, BSOZTTET o033, 3 0M0
Do%sNY SDROT 3703 BOOAINI .
3. BTT0Oemey) LIOTSOTW DI, w0 ST
AT B FoN3.
20¢e3 TpE3,Bras BELINYES), 03503730 ADANGI?
a) 133, 23003
b) 203y 33,
C) 1303, 303
d) 1,2303)3

21) Consider the following statements:
1. Double rainfall peaks coincide with equinoxes.
2. Lianas and epiphytic plants can be seen.
3. Sparsely populated.
Identify the climate type from the above statements?
a) Equatorial

SUBSCRIBE - youtube @navodayafoundation. Telegram Channel@X NAVO. -PRAMATI



NAVODAYA FOUNDATION — Contact @ +91 8105049244/ + 91 6364381776

b) Mediterranean
c) Savanna
d) Monsoon

S FPNS BCPINFS), VORI
1. &M eNF0D dDTNS) IeRIe3T* F0TYOIA3LODNR
BRODFTOIMI J.
2. ODOHITA® 20IY, DATEIT® FRSNPR, TOLWIBITI).
3. ATY w35083;.
RO BELTNPLOT BeI0eOST &) TOT a3, MITIR?
) Red DIRLBOOD
b) RBRETADT®
C) AIDe,
d) <veseof

22) The terms Milpa, Ladang and Podu is related to which
of the following:
a) Terrace farming
b) Shifting cultivation
c) Dairy farming
d) Horticulture

D, DTIOTY NI, FYRLTI DO TWNYH B3
FINIIYNFD). )BT, FOWORDRE:

a) &3 jHA

b) =.$003T Bemoodh

C) BySonedF

d) 3wet&neds

23) If it is said that India has achieved a positive growth of
population, which of the following statements is most
accurate?

a) When birth rate is increasing.

b) When death rate is decreasing.

c) When birth rate is more than the death rate.

d) When the people of other countries migrate to India
temporarily.

2300353) 23R0B503 F03, B W3FIBRONT, AT
DOTH BLTT, B BENTINTS), 03r0e3 LB Bed,,
ADTNI?

2) BIS WDjeors B, Toeden.

b) RIS Wesi0ee B0 Treven.

C) IS Byeoorasy) aNTED &)e3d0e0 8,03 333,059, 7.

d) 930 BBNY BT I3, DTe00N ITIF, WA

20009,

24) Consider the following statements:
1. InIndia, heat wave is declared if maximum
temperature of any region reaches at least 50°C or
more.

2. Heat wave incidents are increasing over the
southern Indian peninsula.

Which of the statements given above is/are correct?

a) lonly

b) 2only

¢) Bothland2

d) Neither 1 nor 2

S FYNS BCLINF ), TONBA:

1. 203RE), 3Rt BTESE NOR, TR
FOR, 50 BN A ODA® 9e00 eITIB,03 3328, 8T,
3ATWT T 3TVON OT) RRCARIIMI .

2. T38.£0 003 TOJEOD DLTRS), To 3TONT
PEINS B, 333,

2ee3 Tpéd,Bre8 BLLTINFD), C30e3)T3) ADOIONT/3?

a) 133

b) 2vesT

C) 1303, 2 XTBR

d) 1eoxe2e9e),

25) The Himalayan ranges show a succession of vegetation
from the tropical to the tundra.
Arrange the following in ascending order with increase
in altitude.
1. Temperate grasslands
2. Pine forests
3. Alpine forests
4. Deciduous forests
Select the correct option using the codes given below:
a) 1-4-3-2
by 1-4-2-3
-1-2-3
-2-1-3
235000 WeIES FLBRT) VR 23OANDOT
0T893N AR sSNE T 9 TeNd, 3C0RIZ .
T FPNSIYNPR, 3.0 D230, T03 e3TRCTBED FaDTE),
BetBA.
1. ReD33eER,, BODIY0TEINTH
2. Ry TOWINYD
3. 383 40 TN
4, HSBNTTIEE ToWINGD
FPR QBT BRLTE NP, WFATROTWY IO
€3030,0303), €3DA:
a) 1-4-3-2
by 1-4-2-3
4-1-2-3
d 4-2-1-3
26) Which of the following hill ranges does not fall on the
Indo-Myanmar border?
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1. Lushai Hills 250033, DI PV, TIN FOWOPATOI 8% TSNS

2. Chin Hills ReOERTR, BONEBL:

3. Mikir Hills 1. 20002)ex-B T F3e300E) B3 3003 93503
4. Barail range 90e3003 Ba3,€3° DB BN 2oDE0B, DS,

Select the correct option using the codes given below: 2. TR 03B, €98 Ted,, TIT YT, TIT
a) 1and2only 09255390NT3.

b) 1,2,3and4 3. 290835 )33 T[yadn VL, S0, BT TOR,,,200NG.

¢) 2, 3and 4 only & BENTINTE), Cas LT SO NTH/aS?

d) 2only a) 13D3I, 23503

b) 2xw3

B FYNTINYE), OI0e3 BES Jeed a3 YO C) 13, 3303

#3059, 0° RONE). 203D, ? d) 2303, 3303,

1. o3 oy _ _ _ _

2 Z%af fo U: 29) Which one of the following routes is the busiest ocean

. (o 0] X A
?

3. B0 o routeN in tt::; \;\I/orltt_j. ot

4, wTer 3eed Z) or f an |chou e

FHR DB BRI NP, WPIBBOR FDOIDT ) Cape of Good Hope route

£303),03033, 3D c) West Coast North America route

3 .

a) 103y, 2393 d) Trans-Pacific route

b) 1,2,3a03) 4
C) 2,333, 43393
d) 2393

T FPNIIYNF D), OH0e)T0 T, €93503 3T "NT
a0enEeeNS?

a) 3T 98390833 et

b) e esp® MHs® Buete® svone

C) /3,2 FO0RY I T L9e0DT avone

d) s905-835 sene

27) Which of the following is not one the approaches to
Human Development?
a) Income Approach

b) - Expenditure Approach 30) Consider the following pairs:

c) Basic Needs Approach

Volcanoes Country
d) Welfare Approach 1. Mount Semeru | Indonesia
2. Sangay Japan
FBIYNIYNP ), O30T 03 €92)e3,0, 00 3. Etna Italy
SNIARINO S How many of the pairs given above is/are correctly
a) T IO matched?

b) s dpes
C) DROPRI ININY PO
d) Tz I

28) Consider the following statements regarding mineral

production in India:

1. India’s richest Hematite deposits, located in
Barabil-Koira valley, are situated in Jharkhand.

2. Madhya Pradesh has become the largest producer
of copper in India.

3. India is a major producer of silver in the World.

Which of the following statements is/are incorrect?

a) land2only

b) 2only

¢) land3only

d) 2and3only

a) Only one pair

b) Only two pairs
c) All three pairs

d) None of the pairs

S FYNT BCBNFI, TONBA:

239,590 DN (a]82]

1. 33 I3e3 BYOBRLICTD

2. =®ore ALV
3. ¢35, TN
ADOON BRODTOINTI/3?

a) TR 2,00 Bt

b) BB TR Betensh
C) R, TNRTI BN
d) o3 Betdnde,

31) Identify the water body described below:
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1. Itislong, narrow, deep and endorheic (landlocked)
in nature.

2. ltis abrackish water lake.

3. ltisin the process of being identified under the
Ramsar Convention as a wetland of international
importance.

Select the correct answer from the codes given below:

a) Ashtamudi Lake

b) Pulicat Lake

c) Chilika

d) Pangong Tso

FTET IeSDAT BRI, VTSR

1. 33 QOB e0R, 3D, BPT0E DI, L90ZAYRT
(BPRWOP3I) & 203330, BRODT.

2. [T R O FBCSTNT.

3. 00, 0° TR ORONS), AW, L903TTIA,, LOD
FYN;3C 23PN FWyTRI 0T MTI3RIES
230000 3.

TP QBT TRLT NP OT DO GV3 T3, L3O,
0od:

) OR OB ICRCET

b) BTz IBRCT

C) ¥,

d) meonrwor® 3e¢

32) The fertile land developed by the seasonal rivers
between Aravali range and western desert is known as:
a) Karewas
b) Rohi
c) Barchans
d) Thali

€900a3P JLEB 2303, BD,e) eNTIZZR IO I3
T3 eCe3 8 SDNPOT 923, R, BRODT P33
IATCINMOWIN M Vs eTo WIS plaMc Tk

a) T3DOF®

b) dwetd

C) 2o

d) oo

33) Consider the following statements regarding the

Malthusian Theory of Population.

1. While the food supply increases in geometrical
progression, the population increases in arithmetical
progression.

2. It violates the law of diminishing returns.

3. The theory takes account of the scientific and
technological advancements.

Which of the above statements is/are incorrect?

a) lonly

SUBSCRIBE - youtube @navodayafoundation.

b) 1and2only
¢) 2and3only
d) 1,2and3

OB A0V 23R0TV5 ATI03T, ROWORPATIOI T8
FINS BELTNT I, BONEIRD.
1. 295008003 NS, e3waT FRT T30
BT, 000N, LH0BNBIE WRSONE). BRAOB50300

BT, M3 .
2. Y 30N, TR 23003 DD,
M ONRIZT.
3. B AD0IY) 33230,0T 20D, I00YT JN3NTS0,
NN 3RCHTR,IR.
DS BELTNYS), D30I T30 3o, NT/3?
a) 13393

b) 1203 23,
C) 2aH3), 303
d) 1,203 3

34) On which of the following cities the Mid-day Sun is
overhead twice a year?

1. Aizwal
2. Agartala
3. Bhopal
4. Ranchi
5. Nagpur

Select the correct option using the codes given below:
a) 4and5only

b) 1,3, 4and5only

¢) 3,4and5only

d) 1,2,3,4and5

S BINSINFE). 030083 SNOEE), #0505, ROODER)
DRET, QTR 2300 N, NTOTOII?

1. =mee®

2. ©n3Fee

3. Pty

4. 000

5. a3
FPNR ANBIE TR NP, WFATROT IO
303,003, e3DA:

a) 43I, 503

b) 1,3 403y 503
C) 3,433, 593
d) 1,2,34a03y,5

35) Which of the following are the factors responsible for
the location of jute mills in the Hugli basin?
1. Presence of nutrient rich laterite soil.
2. Inexpensive water transport
3. Good network of railways and roadways
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4. Abundant water for processing raw jute

5. Cheap labour from adjoining states

Select the correct option using the codes given below:
a) 1,3and4only

b) 2,3,4and5only

c) 1,3,4and5only

d) All of the above

BRN, BRIONT BT3B, RS NOBRY A BN
TV 903N T IPNIINTS), Ovoe)ed)?
TCRTO0I 13DT ©305635,€3° o3, VTR,
9N, 33 250 FION
Gy, @03, B8R 3eNE NS 03 e 2o
FFo,, AL AOR,THBN BECP 30T L3
I3 TozsRPLOT €97 T3 FeDIETTI
é%fri ALBEIRTT TR NP, WFATROTY DT
303,030, e3DA:

a) 1,333, 4333503

b) 2,3 403, 5503

C) 1,343y 503

d) I eI

ok~ wpnPE

36) Consider the following statements:

1. Wetland farming is done when rainfall is in excess
of soil moisture requirement.

2. Fodder crops are usually cultivated under wetland
farming.

Which of the statements given above is/are correct?

a) lonly

b) 2only

c) Bothland2

d) Neither 1 nor 2

S FENS BPINFS), BORBA:
1. PO DB 30003 e911858,08 B, 233N
T3, BT, 30083
2. DIV BSNFD, Aoed0ossed0n N, L3eR0NTE),
BRI
03 20630083 TBELBNFS). Od0s3)m) FOSNT/33?
a) 13393
b) 2303
C) 1a03) 2 ATBR
d) 1502w,

37) Which of the following best defines "Second
Demographic Dividend"?
a) It refers to working population between ages 45
to 60.
b) It refers to demographic potential of children
(Under 18).

c) It refers to potential of ageing population to
accumulate assets for old age.

d) It refers to the working population of women whose
potential has not been realized yet due to gender

gap.

HBIINSYNPS), 0350)T0 "DVBIE BSAODs
000", €93053,50590N 2050050 RII?
a) VW 60 DOT 45 BREBRTNS OIS
HIRO0B;000, ARBRIST.
b) ¥E T BIF0D; AN, APWBRIZTS
(18 BRE 3,03 TLXD).
C) AW 23y BsTo,N A NF T, FOTRIT 30N
BIRO0B503 AT, RPWRIZE.
d) 1R dornt 903BDOTN VIR, FOTDT5E &30,
9D RNTRLE 300 FONT TITOINE BR0B500 ),
RPWBRIT.

38) Consider the following pairs:

1. Eight-degree channel: Separates Amindivi islands
from Cannanore Islands.

2. Nine-degree channel: separates Minicoy from rest
of the Lakshadweep

3. Coco channel: Separates Little Andaman from
South Andaman

4. Eleven-degree channel: Separates Maldives from
Lakshadweep

Which of the above pairs is/are matched incorrectly?

a) 2only

b) 1and3only

c) 1,2and4only

d) 1,3and4only

B FENS BRCRNFT), TONRA:
1. Q080 BN WS 9008 D LIBNF S,
T, SRV DLBNRPLOT LB E RIS,
2. 2,023), &) FOIF: LDTRLAIF® I, OFDLIT
NPT PINNPLOT 2T RIS
3. 3p3ER I DEF OBV I, 33,60
90TWIOD® DO LBE BRI T
4., BI,0T) BT WO a350@), Lo €930,
OFTRLBROT BB RRIZT
S FENS[INTE). 03953 BettORd 3av9,N
BRODTOINT/e3?
a) 23
b) 1503y, 35303,
C) 1,233, 43503,
d) 1,303, 4503,

39) Consider the following regions:
1. Malabar Coast
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2. Western Ghats a) TR, WA, AOEONseI0N 2T, 3P OT eI,
3. Eastern Ghats T)23CDRCIONTI 2D,

4. Northern Assam b) JoR) D3I, BED D), TV 5e0N FOTLST,

5. Lakshadweep BowT 203), BREVA® S, FPVONI 3.

The tropical wet monsoon climate occurs in which of C) TN 03, S, VPR 903y Fpee DOT

the following regions of India? 9,2, BRDOTHIT.

a) 1,3and5only d) ©505838,£3° 3000, SR OO FNFOD

b) 2,3and 4 only FTTDOTN 302350003 ALLDTOD BOBoONT.

c) 1,2and5only

d) 1,2 4and5only 42) Match List I (States/UT of India) with List Il (Major

Mountain passes)

& FYNS FTBNT0, TONEIL: List-l List-1l

1. 02390° B0 A. Sikkim 1. Lipulekh Pass
2. Badh BELAD B. Himachal Pradesh 2. Nathu La Pass
3. TeE FELAD C. Jammu & Kashmir 3. Shipki La

4. o830 90,0 D. Uttarakhand 4. Zoji La

5. o3dLS Select the correct answer using the codes given below:
R FOONT BSTIHE TR, BeIos3I e 8 A B C D

BINSINPE), 25003 0350es TTEBTE). FOL3IRIZI? a) 1 4 3 2

a) 1,333, 53503, b) 2 3 4 1

b) 2,353y, 453 c) 2 4 3 1

C) 1,203,593 d 1 3 4 2

d) 1,243y 593
TE3,-1 (39903 TozssNeD / FLOTYRB P I IT3eT) 9,

40) Which of the following reliefs is not situated in the BE-11 (353009 BRES TOF® 11eH) FLODR BROD

Indian Ocean? &3 -1 BE3,.-11

a) Tonga Trench A 23,0 1. ORe3tes® ox°

b) Carlsberg Ridge B. dadewe I3 2. DG OO DO

c) Lombok Strait C. 2, DI, LT 3.9, @0

d) Diamantina Trench D. V3TN0 4. BeLW o

FIR QBT BRLT NP, WFATROTWY FDOTS

3 FPNTINTE), 0303 FOETY HOBR 03 T3, €303, e3iokd:
FNTORINTTE)L). ? A B C D

a) &etomne FoTT a) 1 4 3 2

b) Teeye e O b) 2 3 4 1

C) 3R0BRT BOROD c) 2 4 3 1

d) @BoSeEH0s3Ne FOET d 1 3 4 2

43) Which among the following are the factors controlling
temperature distribution on the earth?

41) Which of the following statement is incorrect
regarding the soils in India?
a) The black soils are generally clayey, deep and 1. Latitude
impermeable. 2. Longitude

b) Red and Yellow soils are generally poor in
nitrogen, phosphorous and humus.

c) The sand content in alluvial soil decreases from the
east to west.

d) Laterite Soil is the result of intense leaching due to
tropical rains.

3. Ocean currents

4. Continentality

Select the correct answer using the code given below:
a) 1,2and4only

b) 2,3and4only

¢) 1,3and4only

d 1,2,3and4

23903 e BOLOPIROI B FFNSINTE). G35083
BeLB30 3550,N?
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S8 BPNTINTE). 23003 ZNCO TR0
B0 FTORNT, DORN0 YA 03N OTve)ay)?

1. 303

2. Bte03

3. ®NT Bjeoomdneh

4, B2033083DE3
FSR QBT BRETE WFA IO 3 T3, €303,
oody:

a) 1,233, 433503

b) 2,333y, 43503

C) 1,333, 43393

d) 1,2,3303) 4

44) Which of the following is the biggest coal mine in the
world?
a) Haerwusu Coal Mine, China
b) Peak Downs coal mine, Australia
c) Raspadskaya, Russia
d) North Antelope Rochelle, USA

S BENTRNTE). AB0IT I 93B0R, FELE0
Red0350NTI?

a) TVYERD FAE.EN Ned, 23600

b) ¢35 R, B0 Ned, €3£ 03

C) ToAR,89,,0309, Cmos

d) 30 RBOT TP, ONIDFD

45) Which of the following are the causes of the physical
weathering?
1. Repeated wetting and drying
2. Frost action
3. Hydration
4. Biotic factors
Select the correct option using the codes given below:
a) 1land4only
b) 2,3and4only
c) land2only
d 1,2,3and4

S BINTINTE). 13T 3POeTTe0F, ToTLNe) O3053)3)?
1. B BT 2T, e350TIIHTI eI, 2wEINRIHTI)
2. 0T FAd
3. OIOWRI
4, 23;)T 903N

FER QBT BRLTE NP, WFABTR0TI ADOT

€3030,0303), €3DA:

a) 1303, 43503
b) 2,303, 43503
C) 15H3), 23303
d) 1,2,3303), 4

46) Consider the following statements:

1. The albedo of the planet Earth is highest in
comparison to other planets in the solar system.

2. Albedo of low clouds is more than high clouds in
Earth’s atmosphere.
Which of the statements given above is/are correct?

a) lonly

b) 2only

¢) Bothland2

d) Neither 1 nor 2

S FPNS BELINFR), ORI
1. APTFe;BE V3T NBRLT BRCDATT 230200
e9e3 B¢ 98,0ToN.
2. TBRD RJRBRY €33,BUoC 2300000
20I0RVHTAS B3, RRCBNPNOI B2Fo,NE.
TS B0b3,00e8 BELBNFE). Ad0e)i FOSINT/33?
a) 13
b) 293
C) 133, 2 XTBR
d) 19580 2e9¢)

47) Consider the following pairs:

Vegetation Trees
1. Tropical deciduous Teak
2. Tropical thorn Babool
3. Montane forest Shisham
How many of the pairs given above is/are correctly

matched?

a) Only one pair

b) Only two pairs
c) All three pairs

d) None of the pairs

B BYNS BUatBNF, BONBA:

R et Soned
1. R BT de3odnhdis | 3n
2. R, BOCDT TN, 23020
3. BRo&XT® €900 333

2083 ALBETOT BRCBNPS). D), BeCRNT) DTN
BRODTOING/3?

a) TR 2,00 Bt

b) FS© TR Bettensh

C) D, TR BN

d) oxxe Bettdniey,

48) Consider the following statements:
1. Aral Sea lies between Kazakhstan and Uzbekistan.
2. Caspian Sea is bordered by Russia, Kazakhstan,
Turkmenistan, Iraq and Azerbaijan.
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3. Lake Victoria lies between Tanzania, Kenya, and
Uganda.

4. Lake Michigan is the only one of the Five Great
Lakes located fully in the USA.

How many of the above given statement/s is/are

incorrect?

a) Only one

b) Only two

c) Only Three

d) None of the above

S BN BCLINF, IONBA:
1. 900y FRNTje) THIALD® 03I, 02, LBTOD°
SIS /.
2. TR, 007 ANTjeg) vy, TeFA,DS,
BTERDDAYL®, YUOT® a0 I, 9B 236 o0°
RBOHOR.

3. ATRLDOID ATRCTe) I00BLIO3D, 305 303D,

QUNMPOTID STBIS BE.

4, BT ABRCSTey) ROTPLIE 0N
ONRF*DOND). B3 80530 BRT, AIBRCSTRYE).
2,00NT3.

20ee3 Bé3,0ra3 BeLTIMPS). dad,, 3500,NT3/a3?

a) TED® 2O

b) FeEO DT

C) TB® DR

d) SDIPYNF). 00e)TSe €9€)

49) Consider the following Himalayan Rivers:

1. Jhelum

Chenab

Ravi

Beas

. Sutlej

Which of the above rivers do/es originate in India?
a) 2and4 only

b) 1,2and3only

c) 1,2,3and4only

d 1,2,3,4and5

oA W

S FPNS 30300 0NE IDNF), BONEBDAD:
(oW (@Yo}
[ATNDYAN
Ooed
20O350F°
5. R&3
S FPNTINTE). 03503 SRR 20BIE), 333633,3.53?
a) 2303y, 4303
b) 1,203y, 3 &
C) 1,2,3303y, 43503
d) 1,2,34a03y,5

HwbdE

50) Consider the following Indian states:

1. Uttar Pradesh

2. Madhya Pradesh
3. Chhattisgarh

4. Jharkhand

5. Odisha

From how many of the above given states both Tropic
of Cancer and Standard Meridian of India passes
through?

a) Only One

b) Only Four

¢) Only Three

d) Only Two

B BYNS 2300303 Tozss MY, RONEBA!:
033 RT3
A )
KT e
WOVEOT®
. WD
2083 B3B3 AR, TSNP OT TTOEEIT 3,3, 203,
23003 Ao, s0BTFE ZDDERODN® T3
fesplaNteNoNaNEIN

a) BT 2,00

b) S Teen,

C) [ DR

d) e[ BB

gk

51) Arrange the following countries into the decreasing

number of their time zones?
1. Russia
2. France
3. United Kingdom
4. China
Select the correct order using the codes given below:

T TPNS BBNFIN, WINE ToOTOOINY O35
FE0OM S B0a303 BUatddi?

1. Ceos

2. YIS

3. OI3edcE Bon 30

4, B3¢0
FPNR ANBIT TR NP, WFATROT IO
T3y, €30, eds:

a) 3-1-4-2

b) 1-2-3-4

c) 2-1-3-4
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d 2-4-1-3 C. 3P0 300 3. 03T £E3° 230,50e00DNSD
D. DLBTeTE 4. 05350000
52) Ross Island, which has been named as Netaji Subhas FER NBIT TRLCE NP, WFATROR IO
Chandra Bose Dweep, is situated in which part of the N3 T, 303, 30k:
Andaman and Nicobar Islands? A B C D
a) North Andaman a) 1 2 4 3
b) Middle Andaman b) 3 4 1 2
c) South Andaman c) 4 1 2 3
d) Little Andaman d) 2 4 3 1
T3 20T WO WRLE® LR 0T BIDIDNTVEI 55) The lower Gangetic plain is characterized by a humid
ToR* DLy L90TIOT eI, DTRCT° D LBNY climate with high temperature throughout the year.
035033 23enE3L3? Which one of the following pairs of crops is most
a) V3T OBV suitable for this region?
b) s worRT* a) Paddy and Cotton
C) T30 0TI b) Wheat and Jute
d) B, oo ¢) Paddy and Jute
d) Wheat and Cotton
53) Which of the following groups forms the ‘Lithium
Triangle’? _ _ TY 1tore 20NODTE), BREITE B2, FoTe03eITIE3
a) Australia, New Zealand, East Timor ST BREPTIT. B FHNTZYNTE), 03 Buotd
b) Argentina, Bolivia, Chile RO S BEXTB, B, R eTeIONS?
c) China, South Korea, Japan ) 53 3y, B,
d) Argentina, Peru, Chile b) Ret a3y, Reaz
C) 33 D3I, AL
S BPNTEINFE), 03003 THO) 'OBDON0 JFAL TR, T )
CRIRIIZI?
a) e33,,D0300, SesR30T, FPeE Jya30C0° 56) Consider the following Ports of India with their special
b) e922c0€3¢9, L3R03, 3 features:
C) 23¢9, 33,60 TRV, 25300~° 1. Jawaharlal Nehru Port- Largest Artificial and
d) e2¥r083tTe, T, 3D Largest Container port of India.
2. Syam Prasad Mukerjee Port- Only major Riverine
54) Match the following pairs regarding distribution of port of India.
volcanoes: 3. Kamarajar Port- First corporatized port of India.
List-1 List-11 4. Visakhapatnam Port- Deepest port of India
A. Ring of fire 1. Caribbean Islands 5. Mumbai Port- Largest Natural Port and harbor in
B. No volcanoes 2. Pacific Ocean rim India
C. Mauna Loa 3. Intra-plate volcanoes How many of the above given pair/s is/are incorrectly
D. lIsland arc 4. Himalayas matched?
Select the correct answer using the codes given below: a) Only one pair
A B C D b) Only three pairs
a) 1 2 4 3 c¢) All of the above
b) 3 4 1 2 d) None of the above
c) 4 1 2 3
d) 2 4 3 1 239830 B FPNS WORTINFD, LINY IFR
OFNLRODT BONEBR:
B,0RNDNY BOW T AOWOPATOI &8 TENI 1. %e00mOVET BT 20T - LTI e93BRT,
BRIBNII, BRODA: 7,33 303, ©93BRTB, TOETT® 2OTT.
BE,-1 BE,-11 2. D053 TYAOTY SINDBRE WOTT) - 23003T DT
A. DOTY e355° 5,0° 1. FOODT* DLB/AD GIANEMEN AR (eIARAeTnIo M
B. 239,000z NP) 2. BADT® &DTOAINTT €902
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3. TRNTOHRT® ORI - LIVTIT BRTWO ToE TCEIT
200330.
4, DTODTELLD0 WOTD) - 0TI 93503 3%
200T33)
5. 23003; 00T3 - 27003 93BRTW, SyANET
200833
20ee3 Bé3,00a3 BRBIMFSD), Ry, Betl/Ne) ST, N
BRODTOIONGS?
a) TCB[® 2,07 Bt
b) FeE TRTY BetnRTD
C) DT DI
d) SeDTYneS), oo Te 9,

57) Consider the following statements regarding cropping

systems:

1. Sequential Cropping Succeeding crop planted
before the harvest of standing crop.

2. Ratoon Cropping Succeeding crop from the re-
growth of harvested crop.

3. Synergistic Cropping Growing two competitive
crops together.

4. Parallel Cropping Growing two non competitive
crops together.

Which of the statements given above are correct?

a) 2,3and4only

b) 2and4only

c) land3only

d) All of the above

Y BT3NP F0WORDATO3 &8 TPNS BELTNF S,
OB
1 o373 BY Q0333 BP0 TR 2300023 3e0N
SBET S03TH JIY.
2. T8 BY TR0, 0BT WL 3
BFBRRANOE D3R, 23%.
3. ATVBER,T B DORY B 506 3,T IPNF0, 2ued,n
BLO0IHT.
4., Reo00033 WY DTBY X, 3 TRDE BRSPS,
283,71 L3P IHT0.
20¢e3 TRE3,Bres BELINYS). 03503730 IDONTI?
a) 2,333, 433303
b) 203y, 4503,
C) 1303, 393
d) DT e3P

58) Which among the following is/are the major on-shore
oil-fields located in India?
1. Ankleshwar Oilfield
2. Bassein Oilfield
3. Digboi Oilfield
4. Kalol Oilfield

Which of the statements given above are correct?
a) land2only

b) 2and 3 only

¢) 1,3and4only

d 1,2,3and4

T FPNIIYNYD). 43003, IS3RLORBTIE T)addo
BROITE 3,0 FEJNP) O3sey)?
1. o33 s 3o 33
2. WALD 3o TP
3. DRRLAT 3 T3
4, T3Re 3y L3
F0e3 BE3,BHas TBELBNPS). 0330)T3) FDOSIONTI?
a) 1303y, 2303
b) 2303 33,
C) 1,333, 4303
d) 1,2,3a03) 4

59) Consider the following statements:

1. India has consistently produced surplus sugar in the
last decade.

2. India produces more millets than the whole African
continent.

Which of the statements given above is/are correct?

a) lonly

b) 2only

¢) Bothland2

d) Neither 1 nor

S BN BCLINF, BONEBR:
1. 39T TITR), 29003 DT03TeooN TBeR),z30
AT,B003), 039, DA,
2. 2500333 AR €32)To DOTWB,08 B,
2DPOSSNF I, VI, PDRIZT.
23 B3, Boes BELTNFE), 0350730 FDAINT/3?
a) 13
b) 293
C) 1303, 2 XTBR
d) 1e9x002e9e)

60) Which of the following cities are located on the Malwa
Plateau?
1. Ujjain
2. Mumbai
3. Hyderabad
4. Delhi
Select the correct option using the codes given below
a) lonly
b) 2and 4 only
¢) land3only
d) 2,3and4only
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S FINTRINTE). OP0s3 SNTeg) sdoe,

ARRANCINMeW STl
1. ez,
2. 0wy
3. BBORT*
4. Bz

FPR NBRE TRT NFI, WFPATROTY RO
303,003y, €30

a) 13393

b) 2303y 4303

C) 1303, 303

d) 2,303 493

61) This river originates from the Multai reserve forest in

western India. It drains into Arabian Sea and opens into
the Gulf of Khambhat. Girna, Purna and Vaki are its
major tributaries. Major projects on the river include
Kakrapar Dam, Ukai Dam, and Girna Dam.

Which of following rivers is described in the above
passage?

a) Narmada river

b) Sabarmati River

c) Tawa River

d) Tapi River

T3 TR0 B3,23 2I0TITI e0IETAANI RN 9TEASDOTI
3T2€3),33. VT TLIODN® AT T, PO DOWIS®
FRA R 3B, NDE, TRTE DI, w08 VT
3N LOBSDNTD. SDOD 33y ABRCBINTS).
TTRWO® ITBTEN,, GVT LIBTED,, eI, NVE IBTEL,
0.
DR s R0 SE), T TFNTYNFE). 035963 SODI,
2de30RSINGI?

) SeHET D

b) R2TeH3 SO

C) 30D

d) s3I

62) Consider the following statements:

1. The snowline in western Himalayas is at a higher
altitude than the eastern Himalayas.

2. The ranges of the Eastern Himalayas are more
continuous than Western Himalayas.

3. The Southwest monsoon winds have a limited
effect on the Western Himalayas.

Which of the statements given above is/are incorrect?

a) land2only

b) 2and 3only

c) land3only

d) 1,2and3

S TN BCPBIRF ), BONEBR:
1. 33,2 3500005 o3B3 wee3E

20e33000308,03 D3 TH) .

2. TRFE omROONT JLBNY) B, 2a300H,03
BeD,, NT03TNS.

3. &3,903; e300, 30TH3Ne B30 Soe3ROONT
203 LB WO DTIZ 3.

20663 B0é3,033 BePTNF ), O30e9)T3d 30, NTS/a3?
a) 13D3I, 23503

b) 203, 33

C) 13, 303

d) 1,2303)3

63) With reference to coastal plain in India, Consider the

following statements:

1. The Western coastal plains are wider and drier
resulting in shifting sand dunes on its plains.

2. The geomorphology of the Konkan coast is
characterized by submergence coastline.

Which of the statements given above is/are correct?

a) lonly

b) 2only

¢) Both1and 2 only

d) Neither 1 nor 2

23903 TOIRP 30303 T, ROWORAT03, & TPNS
BPLBIRT I, BONB:
1. @35 TP RyTOSNY) DT s3I,
R 2N, BT BWOBeNIN 93T 200300
TBBNF D, 2DTE) D2, T BRI 3.
2. TPOTE) TTORPOD LPBRTRRBIA, o) :NPINT
FOPL 0T ATRAR,E3,33.
20663 Feé3, 0ol BXPLINFD), O30T ADOIVNC/3?
a) 133
b) 2xw3
C) 1aH3Y, 23903
d) 1eox02e9e),

64) Consider the following pairs:

Peak Mountain Range

1. Doddabetta Nilgiri Mountains

2. Mount Saramati Naga Hills

3. Mount Dhupgarh Mahadeo Hills

4. Kamet Peak Dundwa Range

How many of the above given pairs are correctly
matched?

a) Only one pair

b) Only two pairs

c) Only three pairs

d) All of the pairs
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S TN BRCRNT I, ORI
S0 BIFS 3)eed
1. Ber 38, QALOND BWa3e3neh
2. TPOELF FTeNY Dono e,
3. ozmT* B, BTV B33
4, FoTNEF 0T @030, 303

20ee3 Béd Bra8 BRBRNFD), R, BRCBNS) FDATIDN
BRODFTOIMI 3?

a) TBD® 20T B

b) FEO DTWY Betdneh

C) B DR BetReh

d) e, Bettnsd

65) Golan Heights touches the boundary of which of the
following countries?
1. Syria
2. Jordan
3. Lebanon
4. Egypt
5. lsrael
Select the correct option from the codes given below:
a) 1,2,3,4and5
b) 1,2,4and5only
c) 1,2,3and5only
d) 1,3and5only

RALOT® By, S8 TENIINTE), 03503 TSI RO,
BRODTI?

200350

BB’

SIARNOLN

BT,

[RL®

akrwpnpeE

é%fﬁ ARBORTI TR NPOT FDOIT 303,003, e3DA:

a) 1,2,34303),5

b) 1,2, 403, 5503
C) 1,2,3a03) 503
d) 1,303, 5003

66) Consider the following statements with respect to
Mining in India,

1. Non-ferrous minerals are abundantly found in
North-Western and South-Western Plateau Mineral
Belts of the country.

2. Manganese is found mainly in the Dharwar rock
system in the country.

Which of the statement/s given above is/are incorrect?

a) lonly

b) 2only

c) Bothland?2

d) Neither 1 nor 2

2300303C), RE3MedTR F0WORDATOI3 8 TFNS
BeLBRT 0, TONE3,

1. FRBVOE DABN) I 20003035 3303, 9035
TR DI BOORNYS). BCTPeToN
TORIWTI .

2. 33950NCA* 230IN5e90N T3 PFoTe00T deTo
23533800, FOBIWTIR.

03 AEBEIRT O BEPT/ME) 300, Ned/e3?

a) 13

b) 2393

C) 133, 2 XTBR

d) 1e9xe02e9e)

67) Consider the following statements about Industrial

Corridors in India:

1. Of the 11 Industrial corridors launched by the
Government of India, only one of them passes
through Chhattisgarh.

2. Of the 11 Industrial Corridors launched by the
Government, one of them lies in North Eastern
India.

Which of the statements given above is/are correct?

a) lonly

b) 2only

¢) Bothland2

d) Neither 1 nor 2

2500833 TyMeDT0 ToDBT® NP N, B TINS BALLTNY,
TONEBA:

1. 25903 XT0e T RB0YAE 11 TModTe ToDT300*
NP FaB 2,003 3903 FLA° NRT eNROT
fesplarteNoNaVEIAS

2. ATFTR) DYTOWAT 11 FNMedTe To0T00°* Y,
2,003 BT 03I T,

563 BE3,B53 BXLTBNFE). C30eH T FOOIONTI/33?

a) 133

b) 2xw3

C) 1303, 2 XTBR

d) 19580 2e9¢)

68) Consider the following countries of Asian continent:
1. Afghanistan

Bhutan

Iraq

Turkmenistan

Kyrgyzstan

Laos

Tajikistan

WhICh of the following countries are landlocked?

Choose the correct answer from the codes given below:
a) 1,2,3,4,5and 7 Only

Nogak~kowd
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b) 1,2,4,5,6and7 Only
c) 1,2,4,5and 7 Only
d 1,2,3,4,56and7

HTO; NOBE T FFPNT TSNP, IONBA:
1. om0
2. BRI
3. QoeT*
4, 3HTERIAD®
5. 3NFm°
6. oozt
7. 3¥3A°
HBIINISYNP ), 003 BETa) L30-333,3e00NTS?
FPR QBT BRETF NP O3 FDOITE 03 T3, 3DA:
a) 1,234,503, 7003
b) 1,2, 4,5 6503), 73503,
C) 1,2,4,5a03, 73503
d) 1,2,3,4,5603),7

69) Consider the following:

Rivers Point of drain
1. Volga Black Sea
2. Amazon Pacific Ocean
3. Mississippi Gulf of Mexico
4. lrrawaddy Andaman sea
5. Indus Persian Gulf

How many of the above given pairs is/are incorrectly
matched?

a) Only one pair

b) Only two pairs

c) Only three pairs

d) Only four pairs

s BFNTINT, TONEBR:
SDdnehd 30T Wordd
1. Ppeeo, TR),, AT
2. 93O’ BRADT® &DTAINT
3. NRAD, Ny, e35° 80 3,TR
4, }Co3% 90BN AT
5. 203» TAFORND® TR,

20¢e3 TRE3,Be3 BRLBNYE), @R, BRCRINY Zeo,N
BRODTOINEI?

a) TCBD® 20T BB

b) FeE© TR Betneh

C) FB® DR BetReh

d) Je3e Teex, BeCRRTH

70) Consider the following statement about a state in India:
1. It shares its border with three countries.
2. ltisalso known as the Orchid State of India.
3. Nyishi is one of the major tribes of this state.

The statements given above are closely associated with
which of the following states?

a) Arunachal Pradesh

b) Himachal Pradesh

c) Sikkim

d) Uttarakhand

230030 20T TosT W, B TN BLLTONN,
TONEBA:
1. 33 e3H) BSBnLeodR 33, BT,
BOWTRORT.
2. BN, OT3T SBE T Ty DOTSR TCANITT.
3. 3yd B DT B3 LIBTEN,, BROONNFE),
2,0TNT.
23063 AT TBeLTNH T TENSINFE). 033083
Do%sBRODT DTE AOWOT BRODI?
a) VDI IS
b) e &S
C) &30
d) ev3oeons

71) Hindon, Tons, Sahibi, Sindh are the tributaries of which
of the following rives?
a) Narmada
b) Mahanadi
¢) Sabarmati
d) Yamuna

BOBTT, £307, o), 05 B BENSINTE). atross
SO NTINED?

a) JDEwe

b) SHzosd

C) RTeH3

d) ohene

72) Which of the following countries is part of the Alps
Mountain ranges?
1. Austria
2. France
3. Germany
4. Monaco
5. Spain
Select the correct answer using the code given below:
a) 2,3and4only
b) 1,2,3and4only
c) 1,4and5only
d 1,2, 3,4and5only

B FFNTINTE), 003 LT €30, Be3e3S Jeedne
230NN T3?
1. 33,030
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DY,
2NER)
DPTOTR
. RLD
FPNR QBT TR WFA AV 03 T3, 303,
ood:

a) 2,333, 43303

b) 1,2,3a03), 43503

C) 1,433, 5503

d) 1,23 403,503

SIF NN

73) Consider the following:

Biosphere Reserve | River Originating/Flowing
through the Reserve
1. Nokrek Teesta
2. Panna Betwa
3. Similipal Kharkai
4. Achanakmar - | Son
Amarkantak

How many of the above given pair/s is/are correctly
matched?

a) Only three pairs

b) Only one pair

c) Only two pairs

d) None of the above

S FENSYNT, TONBA:
zod3 3 AR BTICBT), B&do 53/
I3eBied RDROF BDOHIE ID
SRTT =,
SANEN 23é30,
ISR DOFyE
IWITOO° - VOISV
9 DTEO0ET®

20ee3 Bé3,083 BRBNFD). DR, BRCB/MNF) IDO3N
BRODTOINMI33?

a) TS DR Bt

b) FeE 20w Betdd

C) SO DB BRtNYH

d) SeDIYNPS), O30T e9e),

74) The Clarion Clipperton Zone, or CCZ, which is the

most studied area of commercial interest for deep sea
mining, is located in

a) Pacific Ocean

b) Southern Ocean

c) Arctic Ocean

d) Atlantic Ocean

e3¢ RIS NEAMODTR 2308325 3RS0 B, LIGsONT
2008 T FT3Te0r T.DOND® .53, 360 30 €TI0
220PTE YT

) BADT TN

b) @3 0 Hzemend
C) 33,63 eDTORONT
d) 98390837 Hmemena

75) The Pamir Knot is the junction of five mountain ranges.

Which of the following is/are not one of them?
1. KunlunMountains

2. Zagros Mountains

3. KarakoramMountains

4. KirtharMountains

5. Hindu KushMountains

Select the correct answer from the codes given below:
a) 4and5only

b) 2and 3only

c) land5only

d) 2and4only

BOeT® V0E3° 0030 We3ES JLBNY ROMeDN. S
BPNIDINTE), O30e9 /a3 LITINPE), 2,0T30NTI?

1. DI DIe3nD

2. N JSe3NTH

3. JoTTRETO RIEINSH

4, 33060T° B3EIND

5. 0TR BT BIEINWD
FPR QBT TRLT NPOT DO &3 T3, 3O,
ode:

a) 4aH3, 5003

b) 2303y 33,

C) 13,5003

d) 2aH3), 43503

76) Which of the following pairs regarding spices and their

largest producers is/are correctly matched?

1. Cardamom (Large): Kerala

2. Turmeric: Maharashtra

3. Chilli: Andhra Pradesh

How many of the above given pair/s is/are correctly
matched?

a) Only one pair

b) Only two pairs

c) All of the above

d) None of the above

NASNY) 03I, IHNY 93TRTW, VI ZFON
FOWORAWOI B TFNIINF). 03503 BUCTONI
RN BRODTOIVNIZTI?

1. D03, (BRG,): F3Y

2. DI eNTOTOR,,

3. RDATTON: BSOPIZ IS
20663 Bé3,0083 BRLBNYD). &R, 2UeCRINE) FDO3TN
BRODTOIMI 3?
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a) TP 2,00 BRL

b) FEO TR Betdneh

C) DI DI

d) SedTINTS), BwsITEo €9y,

77) Which of the following countries is part of the Great
Green Wall Initiative?

Niger

Chad

Djibouti

Egypt

. Algeria

Select the correct answer using codes below

a) 1,2and5only

b) 2,3 and5only

c) 1,2and3only

d 1,2,3,4and5

ok owbdeE

S FTPNIIHNSS), 03503 BT MLEs* NES® 0
WTIDT IONNT3?
By260°
2FOT
RXAEIN
S,
€9&) £D0350
FPNS TR NP, WFATRORBY ADOIIT S03 T3,
e303),53508
a) 1,233, 593
b) 2,303y, 5503
C) 1,203, 33393
d) 1,23 4035

IS S

78) Arrange the following geographical features of South
America from North to South:
1. Selvas
2. Patagonia
3. Pampas
4, Campos
Select the correct answer from the codes given below:

I3 TROT W,£0T, T38,£0 L9NDVTEW &8 TFPNS PR PT
OFEANF, BUatlA:

RCQA®

EAJAIAVOIRN IOV

FAlOIADYN

TO5OTRCA®

=

Mo

FPNR ANBIE TR NPT FDOIT &3, T3, L3O,
ekd:

a)
b)
c)
d)

79) Consider the following:

Ports Country
1. Odessa Port Ukraine
2. Hambantota Port Sri Lanka
3. Port of Haifa Israel
4. Chabahar Port Iran
How many of the following pair/s is/are incorrectly

matched?

a) Only one pair

b) Only two pairs

c) All of the above
d) None of the above

s BENTINT), TONEBR:
[Aelaleh) 2l
1. 2,839, W03 VTR
2. D®OWOERE OB | 30T
3. FRLESE es5p* Tyape [RR®
4. 23TOT* WOTT) lerkv
S BINSINFE). 2R, BRCR/MTH Sz30,N
BRODTOIINS?

a) TCT 2,00 BB

b) FS© TR Bettdnsh

C) NI DI

d) SDTYNS). 00T €9

80) Match the following:

List-1 (Tribes) List-11 (State/UT)
A. Konyak 1. Kerala

B. Jarawas 2. Jharkhand

C. Toto 3. Nagaland

D. lIrula 4. West Bengal

5. Andaman and Nicobar
Choose the correct answer using the code given below:
A B C D

a) 1 2 4

b) 4 1 2 3

c) 3 5 4 1

d 2 4 3 5

T TPNIIYNP S, BRODA:

&3 -1 &3 -1
(WIBTEY,) (Tony/FCOTRY I &)L3CBD)

A. TPDT 1. 33¥

B. x=Co=* 2. TRDEOTS®
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C. &nt&n
D. g0

3. VOMPLV;0TE

4. B33 WOy

5. ©90TBIN° a0I), DTRCLIDT®

FPNR ABOE TRLT WFR IDOHT 03 T3, DA
A B C D

a) 1 2 5 4
b) 4 1 2 3
c) 3 5 4 1
d 2 4 3 5

PART - B

81) ‘Dekho Apna Desh’ campaign is associated with which
Union Ministry?
a) Ministry of Railways
b) Ministry of Tourism
c) Ministry of Culture
d) Ministry of Home Affairs

'Re3eC 9500, BT €92)0Sey) O30S TLOT)
A2 O0NT, AOWORNATI?

a) Tye3, Aeeod

b) eroRetEse L3OO

C) ROR,,3 AZeOOOR

d) 7,3 ©53500ne A0

82) Who was the first woman officer to be deployed at
Siachen Glacier?
a) Puja Singh
b) Arti Shah
¢) Shivani Singh
d) Shiva Chouhan

2035023 3 30a0IDONE), AO3REBRIT WRTS 3030 %D
©9RTD O350T?

a) I A0

b) es358 o

C) 3z A0TT

d) 3 FOmem

83) Magh Bihu, a harvest festival celebrated in which of the
following state?
a) Assam
b) Sikkim
c) West Bengal
d) Manipur

Soe* I®), B LENTINTS). 030063 To2s5TIE).
€323DR AN RON,OD 3B,,?

a) =90

b) &30

C) B/ WoMe¥

d) =30

84) Consider the following statements regarding 26"

National Youth Festival:

1) Itis held in Banglore, Karnataka.

2) The Theme of the event was Viksit Yuva- Viksit
Bharat.

3) Champi Chikka was the Moscat for the event.

Which of the following statement/s is/are correct?

a) 10nly

b) 1and3Only

c) 2and3Only

d 1,2and3

26 € D9, L0 ONE3 A3 23T, FOWOHPATOI &8 TPNS
BXPLIRT I, TONBA:

1) YW Foor&dTH WonEedIR), SBANI.

2) B TODETENE P ITAZ O3E3- ITAS 25903,

3) WO BT, T3 TOODETIENT, e0ALRLES SN .
FBIYNIYNP ), 03 BCLT/MSH FDOTONI?

a) 133

b) 1203 33

C) 23, 3=

d) 1,25038)3

85) The first-of-its-kind inclusive festival in India, ‘Purple
Fest: Celebrating Diversity’ is celebrated in which
State?

a) Maharashtra
b) Goa

c) Karnataka
d) Haryana

299030 BBREZPTO LI0INES Y03 23008 'WRBET®
BAL,: Be330E3077 Byad e €3 93y, 0303 To2esBE),
5230 R AN I?

a) INTITOR,,

b) Rwetsse

C) ToorddF

d) =003

86) Etikoppaka wooden toy craft, a Gl-tagged product
from which of the following state?
a) Tamil Nadu
b) Telangana
¢) Andhra Pradesh
d) Kerala

2360-€305TF BB DE3FRB,T DT 3837 TCHI 3B, S8
FINIIYNP). O30e3 Ta2ssT O3, S33z00NS?
a) 3eAPHTOW
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b) 3eonees
C) es0mBICS
d) 3c¥

87) Which the following statements regarding Parasnath

hill in Jharkhand is incorrect?

a) Itis believed that 20 out of 24 Tirthankars attained
salvation here.

b) The hill is the highest mountain in Jharkhand.

c) The Hill is named after Parasnath (the 23rd
Tirthankar).

d) Itis important place of worship only for the
Digambara sects of Jainism.

LONEOT & BOA® Do W33, FOWORATOI &3
FPNIINPS), 0303 BELTOY 3, NTI?
a) 24 3FFOTTTA, 20 3DOD VL), WAL FeII, BHBTT
NOT SOWNTI.
b) 52385 TPDFOT S 9.8 DI TW Be3e 300N,
C) &k eE,T, VTRV (23 3¢ JEFEOTT) 9330 BAT,
YBING.
d) 9 IS FHEE DR0WT BOFPRLPT 23303) a3ja0ID
TP B FoN3.

88) Which of the following International Organization
Published “Global report on neglected tropical diseases
2023”7

a) WHO

b) UNICEF
c) HINARI
d) WB

S FIPNIPYNTSD, O350e3 €903TTIR,, L0 FOR 0
"AOE T, 3 U OO BRENNY 2078, N3 T 338 2023"
93, IJyTE3RB?

a) WHO

b) UNICEF

c) HINARI

d) WB

89) Match the following:

List-1 List-11
(Prominent sari varieties) (States/UT)
A. Chirala Silk Cotton 1. Jammu & Kashmir
Sari
B. Tussar Silk Sari 2. Gujarat
C. Pashmina Sari 3. Andhra Pradesh
D. Tangaliya Sari 4. Chhattisgarh

Choose the correct answer using the codes given below:
A B C D
a) 4 1 3 2
b) 3 4 1 2

SUBSCRIBE - youtube @navodayafoundation.

) 2 3 1 4
d 1 2 4 3

BB FFNIPYNE ), BRODA:
Bé3-1 BéE3 -1
(a3 AT Ty3eBNeD) (Co%sISD/ITLOT)BY S
A L)
A. 230050 e, T 1. %, 03y, TodLT
2¢3
B. 3yme,0° Aex A3 2. MHwT3®
C. B350 =00 3. e303, wjdwj
D. sonddase med 4. 33
TSR TE3,0083 TRLTE NYI, GVTBOSRENA XOojmw
N3 T3, €303,z 0!
A B C D
a) 4 1 3 2
b) 3 4 1 2
c) 2 3 1 4
d 1 2 4 3
90) Which of the following statements about fake news is
true?
a) Fake news is always created with the intent to
deceive.

b) Fake news is only found on social media platforms.

c) Fake news is a new phenomenon, only appearing in
recent years.

d) None of the above

T AR NY 27, BB FENIYNP). O3voes BELFOIN
QAONTI?
2  PRCA BB NTLBDOT ST D NRTI,
O30T Ry Ry ™ DTN T3.
b) B BB TehRT sheseh sXDBNTE) 3503,
TOBIWTI .
0) IO D, WOTD BRA AT35e3003NT),, 93L23S
BRENTE). 535038, ToBAB, 35,
d) DDIPNF). OeeH TR €9€),

91) Which of the following is NOT a neglected tropical
disease?
a) Dengue
b) Chagas disease
c) Leprosy
d) Influenza

FBIFNISYNPS), 0350e)T0 DOFE 3 VR, BOONT
(ONOINATN O

a) woneg

b) ewenex® duetn

c) &R IR

d) 9 P.odhodye
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92) In marine ecosystems, what function do kelp forests

serve?

1. They provide food for herbivores

2. They serve as breeding grounds for fish

3. They help regulate ocean currents
Select the correct answer using the code below:

a) land2only

b) 2and 3 only

c) land3only

d 1,2and3

FENT) BOAT Bse3m, NP )., T¥, ToWINS 03003
FTOONE W, VTERIBI?
1. €95 ARY;000NDN 3T0Te33), LWHNRIBEI.
2. 093 LN FOTOIRCI,, 3, IoLNPIN
FTOONE DTWERIB .
3. 93 AONT RjedoBDNF T, DCHOZAL) ATAOD
BRWIZ 3.
FPNS TRLE® PR RDOIT G033 Ta3), 30, e0ds:
a) 1303, 23
b) 2a03) 303
C) 1303, 303
d) 1,2203)3

93) VARUNA - 2023 is a bilateral Naval Exercise between
India and
a) Australia
b) Bangladesh
c) SriLanka
d) France

B30 - 2023 239838 03I, SRS D FBLOD
VT AeN00LIV3R00 NS

a) esd, Do

b) 2eone 33

C) 3toozo

d) s

94) PRANA web portal is developed by
a) DRDO
b) NDMA
c) CPCB
d) NGT

PRANA &325° ptédeer &3y, |a3D0r
€923, D BRRSINTS

a) DRDO

b) NDMA

c) CPCB

d) NGT

95) Consider the following statements:

1. Asian Waterbird Census (AWC) is part of the
International Waterbird census coordinated by the
World Wide Fund for Nature.

2. InIndia, AWC is coordinated by the Bombay
Natural History Society (BNHS) and Wetland
International.

Which of the statements given above is/are correct?

a) 1only

b) 2only

c) Bothland2

d) Neither 1 nor 2

B FYNS BELINF ), BONBA:
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96) The world’s first Wildlife Conservation Bond also

known as ‘the Rhino Bond’ has been issued by
a) United Nations Environment Programme
b) World Trade Organization

c) International Monetary Fund

d) World Bank
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97) Sagol Kangjei, an indigenous game of Manipur is

similar to the modern day sports of:
a) Polo

b) Football

c) Horse Racing

d) Chess

THRR)TE & LEOD €3¢353083 AN FoOT, A ESEIDT
BBNRPR BRI I:
a) e

SUBSCRIBE - youtube @navodayafoundation. Telegram Channel@X NAVO. -PRAMATI



NAVODAYA FOUNDATION — Contact @ +91 8105049244/ + 91 6364381776

b) Hése,e° 2. RoMAT Vo, AOIRBT-BSRDET €92)e3,0,,
C) BT 3eR0TF AR BINDNR BEITOR 2WTNAL) WFROMITI.
d) == 3. YT, SBPTe 1997 3. 230nSRTy B.L0H FOR,
BRTEAIBD.
98) The “virovore” is an organism 4. DOLDTITN TID,TE® ToRE TR 1Y)
a) that can decompose the PET ANDBRAT AODTINLT T ONTT3 QTALIOD
b) that eats viruses 2300TF NP, 3DRA0T TS ANBRMI 3.
c) that can destroy Coffee plants DS BELTINYS), DR, S0, NTI?
d) that can purify the rivers a) TE© 2,00
b) FS[e BB
"23;BU0CSTH" 20T 23€ed C) DT DI
a) eI DYEI0HT, FRFDRWTIT) d) SRBAIPINFS), ORI TR 9,

b) et S0 1Y), 880,33
C) eI T NBRFI, VOSBRAIZT
d) e IDNFS, DHDLFTORIT

99) Utkarsh 2.0 is a
a) LIC’s revamped mutual fund scheme
b) RBI’s Medium-term strategy framework
c) SEBT’s new trading policy
d) ISRO’s restructured innovation framework

3, 2.0
2) DDA BOR, 43 NPT POTE O3
b) 320560 B0 5e300e3R FoONEI0T) FOTEN,,
C) AV BREA P50 LS
d) VRALT RSTEBRAT T3 WOTEN,,

100) Consider the following statements regarding Municipal
Bonds:

1. ltis adebt instrument issued by municipal
corporations or associated bodies in India.

2. The funds raised are used to finance socio-
economic development projects.

3. Itwas first issued in the 1997 by Bangalore local
body.

4. Municipal bonds are exempted from tax provided
the buyer adheres to the rules laid by the municipal
corporations.

How many of the above statement/s is/are incorrect?

a) Only one

b) Only two

c) All of the above

d) None of the above
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